Subject: Re: Problem with PndVertexFitter for particles with neutral charge
Posted by Jennifer Pitz  on Fri, 29 May 2015 09:47:12 GMT
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| do first vertex fit lambdas. | just leave it out here.

for (int j=0; j<lambda0.GetLength(); ++j){
PndKinVixFitter vertexfitterLambdaO (lambdaO[j]);
vertexfitterLambdaO.Fit();
RhoCandidate * lambdaOFit = lambdaO[j]->GetFit();

}

for (int j=0; j<antiLambda0.GetLength(); ++)){
PndKinVixFitter vertexfitterAntiLambdaO (antiLambdaO[j]);
vertexfitterAntiLambdaO.Fit();
RhoCandidate * antiLambdaOFit = antiLambdaO[j]->GetFit();
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